

$$\frac{1}{2mra} - \frac{GMm}{ra} = \frac{1}{2mrp} - \frac{GMm}{rp}$$

$$l = m \sqrt{\frac{2GM}{\frac{1}{4} + \frac{1}{4}p}}$$

$$Recordanos que l = m ra va$$

$$\Rightarrow va = \frac{1}{ra} \sqrt{\frac{2GM}{\frac{1}{4} + \frac{1}{4}p}} \approx \frac{1}{ra} \sqrt{\frac{8\pi^2 ra rp}{ra + rp}}$$

$$ra = 1.66 \text{ UA} \quad rp = 1 \text{ UA} \qquad ra \approx \frac{3}{2}$$

$$va \approx \frac{2}{3} \sqrt{\frac{8 \times 9 \times 3}{5}}$$

$$va \approx \frac{2}{3} \times 6 \sqrt{\frac{3}{5}} \approx 4 \frac{vA}{ano}$$